LEEKA® Manufacturer of Locks

Hinges,Handles,
Latches,Gasketing

¢ oo www.leeka.com.tw




B-226-3

TAINLESS]
SERIES

B-001

Hinge

| EREAEE e

M5 JJIEEHR44EE  Countersunk Screw M5

9
M5TLEE R AR — %
180°
5
I
[ | /]
=
T : | T - B -
128
] n
L =
2 1 —-—-1T—-1T—"-"1 - : <
—
! |
ARSI =
\ v : N ‘
I
>
) 25 — |
N ®°’°” —~ - — ]
¥ - 40 12
MERME I HEsre S
SUS material upon request or zinc alloy
L 9
M5 SEHRIEFE With Threaded Studs M5
I
I
i /|
& | -4 :
I | I
L EEEE Y .
<
I
- | o .
I N
|
25
| S —
40
12

Pra, SN AN R, R ERIE MR EEMEBIE I

Zinc die, SUS pin and threaded studs, Black powder coated or bright chrome

REEHE Surface
Z &% Black Powder Coated

528 Bright Chrome

P4 [E E B Screw-on Hinge 40x40

M5;TTEBIR44 B E Countersunk Screw M5

TR HEL E304 SUS304
R E R B304 SUS304
TRt 304 SUS304

B-226-3
B-226-3C
BS-226-3
BS-226-3B
BS-226-3C

M5§E#ERIRHE With Threaded Studs M5

B-226-3A
B-226-3AC




STAINLESS
SERIES
M6 STIEEIZH#AEE  Countersunk Screw M6 m .

11.5

&
> e M6JLERER 4 180°

30
I
I
|
|
1
|
[
1
|
T
I
I
50
50
/ @jl N
4-M6

1
I
-0
|
AN
I
1

N
30
) —
50
MEME T HlsFeE
SUS material upon request or zinc alloy
o 115
M6 SEFRIZHE  With Threaded Studs M6
6

30
I
(.
1
|
I
|
I
I
|
|-
I
50
50
‘O)
/|
]
4-M6

30
|
50
e e% TR SRR AT, 75 F AR IR BT (R B A F A T8 L

Zinc die, SUS pin and threaded studs, Black powder coated or bright chrome

R 44 [E T §% 48 Screw-on Hinge 50x50

RERE Surface M6STTEABAKEIE Countersunk Screw M6 M6sEiR42+E With Threaded Studs M6
E &4 Black Powder Coated B-226-2 B-226-2A

5=8& Bright Chrome B-226-2C B-226-2AC
Fi@sAHED E304 SUS304 BS-226-2

i Em R &304 SUS304 BS-226-2B

REBIMEEE 304 SUS304 BS-226-2C y




| TAINLESS]|
SERIES

M8 JJIEEIR4AEE Countersunk Screw M8

M8TTERIE AR

8.4

MERHETEENESE

SUS material upon request or zinc alloy

M8 FEHERIZE With Threaded Studs M8

[
____:i________g 2 \@j:

&
o
I
T

60 15 14

&, N IR S e AN IR, RE R IR al R & R LM BT, M E 2R
Zinc die, SUS pin and threaded studs, Black powder coated or bright chrome,
SUS material upon request

P44 [E E 8 Screw-on Hinge 60x60

RERE Surface M8;TIEEER44EIE Countersunk Screw M8 M8sE 424 With Threaded Studs M8
254 Black Powder Coated B-226-1 B-226-1A

S2i& Bright Chrome B-226-1C B-226-1AC

TifHHED E304 SUS304 BS-226-1

TR E AR E304 SUS304 BS-226-1B

RRIMBEIH304 SUS304 BS-226-1C y

B-003 Hinges



IRAAE RESREE, AT IREY | B-226-600

gl
RL|G €5

4-©18.3 4-08.3

60

15
| I
8
HERERRIght
. TSR 2 M R
180

4-M8JTLEEIRAR
Countersunk Screw M8

IR e HE N304
Hinge:Zinc Alloy,Pin:SUS304

Jii @ 2 Black Textured Powder Coated

Version A (Left) AB! (f£#£) B-226-600L-20
Version B (Right) B! (55%) B-226-600R-20 ‘



B-226-400 B-226-500 | | IRAAE EERSE, AT IR EY

X 5
4-011.5 4-053 ﬁ
= 180°

40
25

4-M57TIEEIE 44
Countersunk Screw M5

25
40

R e HE T ERIN304
Hinge:Zinc Alloy,Pin:SUS304

i 2 Black Textured Powder Coated

FEEEEIRLeft Version A(Left) AB! (F£12) B-226-400L-20
AR s> MR Version B (Right) BE! (54£) B-226-400R-20 A

o\ |
RS X
4-06.4 4-©13.5 6
/: 180°

4-M63JIEEIR 44
Countersunk Screw M6

50
30

- ©

30
50

©

e e % 58 T EREE304
Hinge:Zinc Alloy,Pin:SUS304

Jin @ 2 Black Textured Powder Coated
E% BlTLeft Version A (Left) AR (£4%) B-226-500L-20
S > R Version B (Right) B! (£5%2) B-226-500R-20 y

B-003-2 Hinge



BRAAE R F | B-226-4A-1 B-2101

90 RLG

18 45

5%

d, &

G oy

E]. | il
J \ @ J

HEE, AHMEEA R, REEE M E @ R EE SR M E T ME T i
Zinc die, SUS pin and threaded studs, Black powder coated or bright chrome,
SUS material upon request

244 [E) 72 8588 Screw-on Hinge 60x90

KREEE Surface M8iEiix 124+ With Threaded Studs M8
&2 Black Textured Powder Coated B-226-4A-1
2235 Bright Chrome B-226-4A-1C y
120
45 45

60
36

E5)
]

)oo

15
e
<7
NS

HE T, AHMEHAET, REEE P ME G R EMEHE IR M E T MET
Zinc die, SUS pin and threaded studs, Black powder coated or bright chrome,
SUS material upon request

R 44 E FE $X 88 Screw-on Hinge 60x120
REEIE Surface MB8sEiRiZ4+E With Threaded Studs M8
FXE 2 Black Textured Powder Coated B-2101-61201-20
284 Bright Chrome B-2101-61201-30 y




B-226-6 | | IR44EERE

TAINLESS]
m M6 JJLEEBRAAEITE Countersunk Screw M6

76
56

50
30

26.3X90°

T T

WaN @ U
©—=5

115 _———
o

90°

IS il

SUS material upon request

76

50
30

¥
©

—

12
—— 11

11.5

e, NI IR, RERIB T R E R EMEE I
Zinc die, SUS pin and threaded studs, Black powder coated or bright chrome

PR44[E E$#:8# Screw-on Hinge 50x76

REEE Surface M6;TIEBI244E E Countersunk Screw M6 Mé6sE#Z 12+ With Threaded Studs Mé

Z &R Black Powder Coated B-226-6 B-226-6A

==& Bright Chrome B-226-6C B-226-6AC
FRFITLE304 SUS304 BS-226-6 y

B-005 Hing



IBAAE ESRHE | | B-226-4-2

TAINLESS]
SERIES

1.
50.0 ° %
180°
60
< 30.0
i -
D 2 T B
Iy 1 @ S J_ L
| e
2 . N
o | o
; ==k ©—
) I:I I I \_./
[Te) )
- A r
@ -
| N
4-M67JIFBIR A% ——
12.0
115
50.0 6.0 C:il
180°
30.0 ——
i .
g |
& & -
2 . 2
b <
o | o
g e — s f@_
S) i \Q/
— /‘] ]
& &
I N
N— [
12.0

o, SN AN IRAL, R A R IE P MR BN B IE S

Zinc die, SUS pin and threaded studs, Black powder coated or bright chrome

W2 44 [E T2 % 88 Screw-on Hinge 50x63

KRERIE Surface M6;TTEEIZ44 B E Countersunk Screw M6 Mé$E#R42E With Threaded Studs Mé
254 Black Powder Coated B-226-4-2 B-226-4-2A

Szi& Bright Chrome B-226-4-2C B-226-4-2AC
4858316 SUS316 BS-226-4-2 y

LR 4




B-2101 B-209 B 44 [E] 7§58

TAINLESS]
SERIES

B-007 Hinges #

M6 JJIEEHRAAERE  Countersunk Screw M6

76

28 28 18 18

N\
3
NA

60
36

|

|

I

T
60
36

’

T

6.6X90°

. ! . 4-96.6X90 °

| | | |
T T =2 4 AR T R
— | I I I I
15 15
76 76

e, I EEN o R ImEE i, R E R IR o R B R B S 8% A B B e T i
Zinc die, M.S.zinc plated or SUS pin, Black powder coated or bright chrome,
SUS material upon request.

BRA4[E E £ 8# Screw-on Hinge 60x76

REEE Surface 48 M6;TTERIZ#A4F|, 4Countersunk Screw hole M6 6fE M6 JIEEIE447L 6 Countersunk Screw hole M6
2 %4 Black Powder Coated B-2101-6764-10 B-2101-6766-10
528& Bright Chrome B-2101-6764-30 B-2101-6766-30 ‘
1 | i
- 2 11.2 . 4-M6 SEERIEME
= % o
| ~ — 1
ot K’T‘) i
- = | | 263 S
| . T
ATLEEFLEY 20
40 40
3
4011,
n
oo || [ | ™
S’w ™ I wn
| | |
Or1©

Countersunk Screw M6

T | T
l\ Me6 7)LEBIRAAE E

P %, A B AN BT, R E R IR pI M R B R A B i ik
Zinc die, SUS pin and threaded studs, Black powder coated or bright chrome,
SUS material upon request.

BR44 [E E 28 Screw-on Hinge

KEREE Surface Mé677iEE 24471 4Countersunk Screw M6 M6 $EfRi84E With Threaded Studs Mé
2% Black Powder Coated B-209-1 B-209-1A
5544 Bright Chrome B-209-2 B-209-2A y



IBAAE ESRNE | | B-218

TAINLESS]
SERIES

M6 JILSEIRAAEITE Countersunk Screw M6
50 12
30 6
= "
i i
(! " &) mn
I
i
e m— gm— g m—
—_ | G — -0 (o] —_ @ . O
— — — 1 —_—————
&
nl . N
o —
8 Q
50
5 145 12
6 30 180 °
i |
e — ) ~ q} N
| L | L
(=== ——x AT S— S— S—
- 11— - S -1 R - T -R R
— — — — — —
] | | I | I
- D6
N\ e—T U \ /! [,

méxa EERIERE \p?&

P, AN, R E R IR O R R N B S M E Bl M T
Zinc die, SUS pin, Black powder coated or bright chrome,
SUS material upon request.

PR Surfases SERIRAEE Qountersunk Screw M6 M6 S #8# With Threaded Studs M6

2% Black Powder Coated B-218-2 B-218-1
7584 Bright Chrome B-218-2C B-218-1C y




| | EREAEE e

50 50
4- M5
i
50 50
15 15
S o | S l | l
1 I 4 m i -
A U H Vs 1)
35

s BEEER
R o - With thread holes A
With thread studs 180 180

e TR, RERET MR EERENERE

Zine die, SUS pin and threaded studs, Black powder coated or bright chrome.

| #5924F 8 With threaded studs | #4478 With threaded hole
A () Version A (Left) B-2106-501-L20 B-2106-500-L10
BE(#5%%) Version B (Right) B-2106-501-R20 B-2106-500-R10 y

B-226-5A B-226-7R | R A [ R R

B-226-5A
61 36 N 14.5
b I
H 1 ® @ °© E =
o - N H-
o~ ™ , W Ol v
i Sl e |- 1
L « H
™ 1
N @ _@_ H L

e MR EAIR, RERIEEBEE
Zine die, SUS pin, Black powder coated.

IR44EEFRSE Screw-on Hinge B-226-5A ‘

B-226-7A

B-226-7A

B-226-5A

39.8

o TN EAIIEE, RERERBER

Zine die, SUS pin, Black powder coated.

R4 EEFHE Screw-on Hinge B-226-7A ‘

B-009 Hing



RAAEERE | I B-2107 B-272

=
36 SRS 25 Ol
Clamping pin

" — 2 | g,
| %&ﬁ% T X
! _|PA washer ! é E q}
o 9 - o Bl % w lPrE<> <
| | % Door frame @ #\ Door
I % Al P
! jus 0 || &
I 5 | BFLRT
13.5 . Panel Cutout
]
E
B-2107
1l
e, BEEE, N, PAIKEHEH
Zinc die, black textured powder coated, SUS pin, PA clamping pin
FEEERY Left side B-2107-L
£ 3£ Right side B-2107-R ‘
KB Large Size 9 m
19.5
57 A 38
38 65 5.2 NG
L ! I W
aill Sg n < | ¥
| n ) P9
RIS - g -~
ol < @ i_ < F'ﬁﬂji Door
- ! | N Door frame
ol They - o | ©
A\l l | T Vi

SHEE IR AR

Adjustment screw

/PNEY Small Size

36.5 36.5 — B-272-2
v ‘ 12 q‘ei, 125 125
| |
ol & ol ® . €
n| /= Zs i r:]‘ \;g 5 .
95 @ | L 9 @._I - N\ | ?
— — " — 2 Fg
— T £ < PIHE
el @ ol ® LN =
1 T | o | ]
270@ _ -
4-28.8 q)by 7.5 6.5 9 <9
Y 12.7
B2 A7 AEFLEY FAFLRST
Round screw hole Hex 4mm screw hole Panel Cutout
I 2R S e R AREA RS (PC), 1R B N 607o
Hinge Leaves:POM,Pin:Polycarbonate,Adjustment screw & nut:Stainless steel
2 Black | FLEE White
ElFLE [bav::Eikidl ElFLE [bav::Eikidl
K& Large Size B-272-2 B-272-2-BS B-272-2-WR B-272-2-WS
/NBY Small Size B-272 B-272-BS B-272-WR B-272-WS ‘

LR 4




B-2105 B-2104 | | 3244 PE B RE (i1 $% 88

CHEBEFIfERER
Nylon Black hinge leaves & covers,acetal black hinge pin insert
B HiEE) Free swing | B-2105-0-90
EARE 80°EfiL 115°%EfiL 150°E fiL
Positioning Torque N.M Detented open angle: 80° Detented open angle: 115°  Detented open angle: 150°

0.7 B-2105-08007-90 B-2105-11507-90 B-2105-15007-90

1.1 B-2105-08011-90 B-2105-11511-90 B-2105-15011-90

1.7 B-2105-08017-90 B-2105-11517-90 B-2105-15017-90 ‘

25.440.2
@4.5+0.1 12.740.2
o . .
=1
=+
©
i
A 7
LR
Panel Cutout
49"
S ~ - ‘
| b A R
~ = | s
(=] o~
H
& - B
<
Q :
<
31.840.2
HEEFNERE R
Nylon Black hinge leaves & covers,acetal black hinge pin insert
Ga5E Item NO. | LEEIAE Detent Angle | EfH%E Positioning Torque N.M
il
52104-0.90 B EERR ) (S 1L 8h) N

Free swinging(no detents)

B-2104-5-90 1.IN.M




B-2113 B-2115 B-2116

| iMESIRAAEE
Rivet on or screw-on
B EBPA+GFERTE, $E YK B
Hinge Polymide GF 30% black, M.S. zinc plated pin
I § I §
[ [ ! %2 [ Il 2 [ [ ! ! [ Il 3
' U 0 ' VT o
| 5 " 3
0
P J
7 7
'z N
I I
J | ) |
g 5 1 | — g 1 |
I I
Fany Fany
N l@/ N2 @)
36 36
60 60
1) A H A
LB (F£#E) Version L(Left) RE (55%) Version RiRight)
B-2115-76604-R
B-2115-76604-L
e BN i RE e R B EREMERE
zinc die,M.S.plated or sus pin,black powder coated or bright chrome
1R ETFEEXEE Screw-on Hinge 60x70
RERIE Surface 5 Left £2E Right
224 Black Smooth Powder Coated B-2115-76604-10L B-2115-76604-10R
$28% Bright Chrome B-2115-76604-30L B-2115-76604-30R ‘
40.7 91.5
< X
1 [
L
@
Ah)*
ob 24,9 45
w o FZN) FZN\\ o
I \Z N '6 <
|
AT
\ \Z
10l 193
47,6

B EBPA+GFERTE, 5 804 =
Hinge Polymide GF 30% black, M.S. zinc plated pin

IRAAEE LB Screw-on Hinge

B-2116-01-90 A




BR %A [E] %E BH fE #%6

B-2118 B-2118-2

o

7 [ % 90 1F 180°
7 REVERSE FORWARED
1O 1T
L5 | B 4 42529
T [ S— N
~ U ||
2 lo)-—©
1 — 45

4-26'¢"

34+0.2

FSLRYT

Panel cutout

B/EERSE/ A e MER; T 8RR BE;

F=enal BR R B8R D 25000 ©

Hinge Leaf: Zinc Die, Black Textured Powder Coated; O ring: NBR’Black;

CYCLE LIFE:Within 25,000 cycles static torque stay Within £20% of torque specifcaton.

¥FEHAEN.M Symmetric Nm

HRIENM Fi#E 2Black Textured Powder Coated 7€ Natural
B 1% Free Operating B-2118-100-20 B-2118-100-11
1.2 B-2118-112-20 B-2118-112-11
1.8 B-2118-118-20 B-2118-118-11
23 B-2118-123-20 B-2118-123-11
34 B-2118-134-20 B-2118-134-11
45 B-2118-145-20 B-2118-145-11 A
38 1N

17.8+0.2 1F 180° i & 90°
4-34.5 FORWARED REVERSE vV’ vV
‘ O O
- - - -
b {;} ) | |
- N

ha NS
+

o
= o0
7 < &

|

|

|

i

i

i

|
2840.2
40:0.5

w 3+0.2 {é {%}

oY Y |10 W
4-25.2 ‘ | 17.840.2

FSLRY

Panel cutout

B/FF IR/ EAUM e MEE; T 8RB R

Sopal BR R BB HR 120000 ©

Hinge Leaf: Zinc Die, Black Textured Powder Coated; O ring: NBR Black;

CYCLE LIFE:Within 20,000 cycles static torque stay Within £+20% of torque specifcaton.

¥ FEHSEN.M Symmetric Nm

HENM FrE 2ZBlack Textured Powder Coated JH¥t 2 Black smooth powder coated
B 1S Free Operating B-2118-200-20 B-2118-200-10
09 B-2118-209-20 B-2118-209-10
14 B-2118-214-20 B-2118-214-10
18 B-2118-218-20 B-2118-218-10
23 B-2118-223-20 B-2118-223-10



IBMAEEEENRE | | B-209-1R B-209-2R

[ (=]

53.5 |
33 m
& 90° 1F 180°
7 : | REVERSE FORWARED
I A
i
Q | I B, _ _ _ e
o0 | ! ~
— T (@]
+ O [V
- - - |_ i =
! | ! 7
12,585 i"'l
Panel cutout

B-209-1R (BRAETX)

B/EREEE/ A ¥ e ME R T SR RE 18E] 1SUS304 Ao

F5op a8 N ELEIR 1 250007

Hinge Leaf: Zinc Die, Black Textured Powder Coated; O ring: NBR’ Black; Stud:SUS304,Natural.
CYCLE LIFE:Within 25,000 cycles static torque stay Within £+20% of torque specifcaton.

H*E N.M | HFEHE N.M Symmetric N.M
#1Z4EE With thread studs | [ 2 Black Textured Powder Coated
1.2 B-209-1R-12
18 B-209-1R-18
23 B-209-1R-23
34 B-209-1R-34
45 B-209-1R-45 y

53.5 |
38 [5 AN
X & 90° 1F 180°
Z REVERSE FORWARED
+H-- - -+ -
2 I
It —r—- - 3
™) | 1 3
— : o ~
-1 - (- 1 ~ o
T B-209-2R (JIFLT)
I : 7 1 1
14.2. L~ L
FLRYT

Panel cutout

B/ IR/ E N e MER; T 8K RE ;Ko

Sen Al BR R BB IR 125000 ©

Hinge Leaf: Zinc Die, Black Textured Powder Coated; O ring: NBR> Black; Natural.
CYCLE LIFE:Within 25,000 cycles static torque stay Within £20% of torque specifcaton.

HE N.M | HFEHEE N.M Symmetric N.M
IR FLEIWith thread hole [ifE 2 Black Textured Powder Coated
1.2 B-209-2R-12
18 B-209-2R-18
23 B-209-2R-23
34 B-209-2R-34
45 B-209-2R-45 A

LR Hinges §



BR %4 [E] 7E PH FE £ 8

o\

185

X . - =

166
35

45+0.1 |

FFLR~
Panel cutout

#Fr e e iR T £ #h

Zinc screw-in torque hinge.SUS pin

HfEHAR

N.m Symmetric N.m

H15E N.M | i@ 2 Black Textured Powder Coated | JRE& Gray
B B##%EE) Free Operating B-2338-6000-20 B-2338-6000-22
1. =6t ER BN EE 1 2500070 1.36 B-2338-6136-20 B-2338-6136-22
1. CYCLE LIFE :Within 25,000 cycies static 2.26 B-2338-6226-20 B-2338-6226-22
Withine20% of torque specifcaton 3.16 B-2338-6316-20 B-2338-6316-22
4,07 B-2338-6407-20 B-2338-6407-22 ‘

1244 [E % PR FE # 8
X e
00 R 90° iE 180°
56 REVERSE ~ FORWARED

54
35.5
:
|
I
I
I
I
I
I
|
I
]

10.5

'S

Q

>

~
4-510.2

PA6+30%GF 28 Bl K i
PA6+30%GF Black,bearing steel

FEFHIBIE N.m Asymmetric N.m

MR N.m K MEH%E N.m .
Forward Torque N.m Reverse Torque N.m RS PABlack

1. 8/ 5% sEEAEH S AEE T
JIEFE D EF20%
2. 5 enal BRI BB R 200007

1. Technical requirements:
1.Within 20% of torque specifcaton; 23 03
2.Within 20,000 cycies static torque stay; 03 23

B-2135-6023F-90
B-2135-6003R-90 A

B-015

Hinges



RAAEERERE |

M5;EEI244E € Countersunk Screw M5

40

M5 $ZEfRi24E With Threaded studs M5

40
25 |
l |
7 \
{a— N\
H-f-——- 11 ==
-4
N -
T T
e E/E i Tt HEIRAE

Zinc screw-in torque hinge.SUS pin

I
& 90° iE 180°
REVERSE ~ FORWARED

ﬂi

—

w0 %_
1

4

—

—

127

N.m Symmetric N.m

| [ifE & Black Texured Power Coated

SB5E N M5 SIEEIRAAE E M5 sRERIRLE
Coutersunk Screw M5 With Threaded Studs M5
B H1#8&8h Free Operating B-226-3R B-226-3AR
09 B-226-3R-09 B-226-3AR-09
14 B-266-3R-14 B-266-3AR-14
18 B-226-3R-18 B-226-3AR-18
23 B-226-3R-23 B-226-3AR-23

B-226-3R

1. F5en s B N EUE 1 250001
1. CYCLE LIFE :Within 25,000 cycies static

torque stay
Within+20% of torque specifcaton



B-226-2R | | IB44EEEERE

RL|[S LNEW |

L7

M6;IEEIR44E E Countersunk Screw M6 & 90° iF 180°
REVERSE FORWARED
—
e D
= .
[ Io
- <
——— 4-1

M6SEERIZAE WithThreaded Studs M6

50 ﬁo 15

30

412

#Fre S PEfE R T IR HiBHE

Zinc screw-in torque hinge.SUS pin  N.m Symmetric N.m

| fifiE 2 Black Texured Power Coated

N . . M6 JTERIR4AE E M6 SEERIZME
1. EZa iR 125000%% .
AR R R * HEN.m Coutersunk Screw M6 With Threaded Studs M6
1. CYCLE LIFE :Within 25,000 cycies static
torque stay B B & Free Operating B-226-2R B-226-2AR
Within+20% of torque specifcaton 1.8 B-226-2R-18 B-226-2AR-18
23 B-266-2R-23 B-266-2AR-23
34 B-226-2R-34 B-226-2AR-34 ‘

B-017 Hinges



RAEEMEEIRE |

B-226-1R

M8;TLEEIR44E € Countersunk Screw M8

157

2 90° IE 180°
REVERSE FORWARED
17
—)

4-M8

|
i
|
i
|
|
36
60
4M8

e (e 8 » A5 1 5 BB

Zinc screw-in torque hinge.SUS pin  N.m Symmetric N.m

fRmE 2 Black Texured Power Coated

SR4E N M8 TERIRAAEE M8 SRERIRAE
Coutersunk Screw M8 With Threaded Studs M8
B B3 Free Operating B-226-1R B-226-1AR
136 B-226-1R-13.6 B-226-1AR-13.6
2:26 B-226-1R-22.6 B-226-1AR-22.6
3.16 B-226-1R-31.6 B-226-1AR-31.6
407 B-226-1R-40.7 B-226-1AR-40.7 ‘

1. F5en s B B EE 1 250001
1. CYCLE LIFE :Within 25,000 cycies static

torque stay
Within+20% of torque specifcaton



B-2321 BS-2061

RL{E

66.0
54.0
34.0
60.0

9.0

M5 FRIRE M5 LERIE A%

13.0

19.5

e IR IR E A PAR R

Hinge zinc die, m.s.zinc plated pin, PA boushing

fRE 2R Black Textured Powder Coated
B-2327-13-20
B-2327-19-20

40.6

38.3

51

38.3

19.0

255

| ==

£& Bright Chrome

-

6.5

100

=] Jl=n

100

T304, B E M C
Stainless Steel 304,Bright polishing

NAEEXHE External Hinge

gmipk Bright polishing

17.5




IRMAEIERE | | BS-9075 BS-29069 BS-3831

BS-5075-1 BS-5075-2
50
30 S
6-P5.4
\-@ ®
N
® R B :
N
N
P - oy
09 ®5.5 P9 055
%:II T . ] [ | I 1]
REM304, R BT EE

Stainless Steel 304, Vibration Grind

YRALE ESREE Screw-on Hinge

KEEE Suface #12447L With hole REEIB4471, Without hole
{RBIHAAE Vibration Grind BS-5075-1 BS-5075-2 y
6-P53
2
o o &
@9 .
A L L1 [ e
@5 . .
) B @D —
[ 23 23
65
TiHEM304, IRBNAF ES
Stainless Steel 304, Vibration Grind
1244 EESXSE Screw-on Hinge
#RENEREE Vibration Grind BS-5065-1 ‘

e ss
1=0.90 25.40 4B
b &
) o | T 1]
v 5,
b eee an
D &
6.30
g 304, IRENOF S
Stainless Steel 304, Vibration Grind
IR EFE LB Screw-on Hinge
HRENFREE Vibration Grind BS-3831 ‘

TAINLESS]
SSERIES I Il
.

BS-5075-1

BS-5075-2

BS-5065-1

BS-3831




B-265 | | IR44EERE

40

KA
Large size
J\ 6-P6.60
P
OF [ T 47
\T l
i i
!
3 < |
1 ! 1
ST : |
|
. &
g Ll
Al
24 24
BB PAIRAAK E TE 5, 3 S SR T Bh
Screw-on hinge polyamide GF black,pin M.S.zinc plated
R4 EEEREE Screw-on Hinge
M6 IEEIE44EIRE Countersunk Screw Mé
PA SERIZE B-265-1 y
N 0
Small size , 31.5

ST

30

50.2

@
€

H___

18

10

B B PAIRAA B T $R5E, 5 S 50 £
Screw-on hinge polyamide GF black,pin M.S.zinc plated

1R EFE LB Screw-on Hinge

M5 5IEEI2$TEIE Countersunk Screw M5
PA iEEI 25 B-265-2 |

B-021 Hinges



BRAA B E FR 5

TAINLESS]
I SERIES
-e

W
P1
BS-200-1
N
o
@) @ | -
[\@]
o
@D M BS-200-2
_ f
| T
BS-200-3
e MBI Mim ORI R TR B
s The middle gap between knuckle and knuckle
’Fﬁfﬁﬂ 316‘%%@}@7'5 is perfectly close;Meticulous appearance
Stainless Steel 316~Bright polishing Both sides of pin are fully covered by leaf.

MODEL NO.| @D | M | #E ke

BS-200-1 8 16 10 100 60 30 30 6 M6 90 BS-200-4
BS-200-2 8 16 75 75 50 40 6 Mé 70

BS-200-3 6 14 65 65 40 35 5 M5 50

BS-200-4 6 14 50 50 35 20 5 M5 w0 4

unit:m/m




B-3030-B

B-3030-G

B-023 Hinge

B-2531 B-2536 B-2541 B-3030

31
36
41
30

me®

Aluminum Alloy

B
25
25
25
30

| BBAREE RS

©

60

&
55
A
©
o
O

4-Mé

IB44EEFPE  Screw-on Hinge
REBRE Surface

EEZEIEE A Black Powder Coated
B-2531-B
B-2536-B
B-2541-B
B-3030-B

3B 2s BFEME Anodize Finish-Silver
B-2531-G
B-2536-G
B-2541-G

B-3030-G ‘



BR LA [E] RE $

B-4748-G

06.6
p SN ZON
48
32
4-Mé
N O |
~<| ™
Dy |
|
ek

Aluminum Alloy

RMEEE Surface

IRAAEEILHE  Screw-on Hinge

BEREZE  Black Powder Coated B-4748-B
MSiRAIEE Anodize Finish-Silver B-4748-G ‘

Gk 3%

59

BD-3119-B-1 BD-3119-B-R

LR B

31.5

19
35

BD-3119-B-L

497 !
I

S

fisi=a

Aluminum Alloy

REEE FTHFZFFEZBEE Black Power Coated

ABY (F5E) Version A(Left)
BD-3119-B-L

-

BD-3119-B-R

BE! (52E) Version B(Right)

BD-3119-B-R ‘




| SRR E E IR

B-208-1

B-208-2

B-208-3

B-025 Hinges

&

P2

&
S
o

mes REREBERE

Aluminum alloy, Black powder coated

Item NO. | A |

B-208-1 70 75 10 19.5 105 65 18 47 545 Mé
B-208-2 70 50 10 19.5 105 65 18 6 47 30 Mé
B-208-3 40 50 65 135 9 55 13 26 30 ME‘



AIifFEREE | I

.| |-
SIS
o I
v ~
A ) T T
(@]
1Js
20 |
™~ [ ~
< | <
I
. )
) (——
| [ s
180
FEERY Left HEEE Right
roe, AmEBEARE
Zinc die, black powder coated
ABY(#5E) Version A(Left) | BEY(#542) Version B(Right)
B-203-4 B-203-5
17.5 17.5
I I

&8

51
63
63
51

17.5
17.5

{m— N (T ]
1[I ﬂ ﬂ 1 ‘
15 15 15 15 |
FEAEA Left G52 Right

e, RE ARG RN EEE

Zinc die, Black powder coated or bright chrome

ZEEi =8%
Black powder coated Bright Chrome
Version A(Left) AR (Fit) B-203-1 B-203-1C
Version B(Right) BE! (F54£) B-203-2 B-203-2C

I I
@m, AR ahr (L) s
A1 BIEER

B-203

B-203-5

B-203-4

B-203-1

B-203-1C

B-203-2

LR 4



B-203 B-2201 | | ETiFsRsE

31 31 17.5
g® 10 (——
v’§°\! i -
s 7N N N N Mm
J \ -
ZEESd N |
| I | | |I
19 12.8 19 ! E.S)
6238 )
15

e E, RE A MABERMEIERIE

Zinc die,Black powder coated or bright chrome

BREBER b=t
Black powder coated Bright Chrome
B-203-3 B-203-3C y
94.5 10
19 383 25.5

ool oo

— e 1
1

185
M@5 282

4-(10-32UNF)

e ®, REAMAEBEREMBIERIR

Zinc die,Black powder coated or bright chrome

TEHN BRAFL =g 5ok
Install Style Coated Tapped Hole Black Powder Bright Chrome
IEEERE Front-mount Hing iB%L Thru hole B-2201-572-20 B-2201-572-30
BEREE M5X0.8 B-2201-570-220 B-2201-570-230
Concealed-mount Hinge 10-32 B-2201-570-120 B-2201-570-130 ‘

B-027 Hinges



g% |  B-207 B-2206

. RLIS U

4
0 o
o 0
N
| QOK/_ I
-+ _m -
<
S
<
@6
J0 1 . TR
< <
— —1 1 Ll
11.5 | 11.5

$at BERE BOBE

Zinc die, Bright chrome plated, Black powder coated

22§& Bright Chrome B iFE4E Black powder coated
B-207-1 B-207-2 y
12 26.5

|
¢

2-M5

30
30

- %

o
i
o Al o)
o ol @ .
Ll
n ] L "
= S | | g
o0
[e— b |
_GHEI NI N
£| 2
30.5

fr o, RPN S T R IM S B, R E B MR B R B

Zinc die, Black powder coated or bright chrome,M.S. zinc plated or SUS pin.
EZE Black Textured Powder Coated | Z=£& Bright Chrome
B-2206-20 B-2206-30 ‘




B-2208 | | ETiReRsE

M5X15
\ 2 BURISPIE
IFRES Depends on panel Ts
Washer

11

0
=
==

20

30

|
|
@, LB e

PA washer

20.3

R5.7

30

13
I
|
|

Rz

$¥ 0, HE SN sl SRS S i, 2R o R R A B I S iR
Zinc die, Black powder coated or bright chrome,M.S. zinc plated or SUS pin.

A2 Black Textured Powder Coated | Z=£& Bright Chrome
B-2208-20 B-2208-30 y

RLIES ‘
LHIRER A

Serrated 9
washer ~
s T
AR
\ZJ Juj v J o
— [v ~
- g
R
4
- AR
IR RS
o n| Attention:
o~
Screw M5X8 should
_ not contact the pin
R5.7
7 |
3 / .
7
(% 1
u _ |
2
n
4
2
é
ﬁ

TR PA GF30%, 5 iz T2 i) 528 Hk 14, 1~ 943 51 £
Black PA GF30% body, untreated steel fully molded-in, stainless steel pin



CIEis 3% | B-2210 BS-204-3

RLIES

0
=
~
1~ M
N A
o o
I - — T ~
< LN
Q
N
+——H g
1 L ~
_19.0
o \__
o <
3 L
o 5 5 8
Stainless steel or M.S.zinc plated

™R, Version FE L Length A i##M Stainless Steel fEE¥ M Steel

=8 Three Joints L=57.0 B-2210-570-304 B-2210-570-01

- REE
@ E o +\§— °
o ! N of ~
- I - 'I :
D 0 | '
A
&
T BE LK

Stainless steel, Bright polishing




TAINLESS]
I SERIES
-

B-031

Hinges

| | FIifrERsE

BS-3865-1R /£ BS-3865-2L G

38 38

31.9
31.9

65
65

D5

45

|, 30.1
- 30.1
1.5
|
65

31.9
31.9

qu @10
E %
BS-3865-3R BS-3865-4L

38 406 406 38

31.9

o v
»l o

@D

25 ;
@5
of[[ | 3 g ., |lle
9 g _j '_J——- ol 3
} ! ®

31.9

:1L g‘”‘o

ot — = —

T 304 EENHTE
Stainless Steel 304, Shaking bright polishing
IFEEESR Weld on version R4 EFER Screw on version
HEE Left A Right 5 Left & Right
BS-3865-1R BS-3865-2L BS-3865-3R BS-3865-4L ‘




AT3FeRsE | | B-260 B-250

58
31.5

24.5
44

12.8

)

®6.8

8
15.7

B EPA+GFEREE  IE S I EH B
Hinge Polymide GF 30% black,M.S. zinc plated pin

SR Left Side B-260-1
4% Right Side B-260-2 y
®4.30 ,
= # g
e, 1
b\
SIS o < S
yan)
W —
T ) L :
13.8 D6

RS- IR T HEIH-T IR 304 (SR ERIE

Aluminum hinges;Stainless steel pin, Anodize finish

y 4




B-206 B-710# | ET3FeksE

I TAINLESS] O
n u . 4 P8 ,_i.' 2
|
‘ | I .
H—0

L] [ @
% | |
B
N Y U
29
50 B-206-1 & B-206-2
30
4-Q5 18 — 1.6
R
S, P9
- || & +
N Y i
18
30 B-206-3 & B-206-4
088 o S 8
Steel or stainless steel
| FIZE [TEM NO.
34 Steel B-206-1 B-206-2 B-206-3 B-206-4
Fi#sHSUS 304 BS-206-1 BS-206-2 BS-206-3 BS-206-4 ‘
B-206-4
I TAINLESS] 62
m I SSEQIES
32 2
7 N [
N 0 n [ 225
= - : ¥t
. &

408
| |
| | ©
N J i

il EEA=) BN e
Stainless steel or steel

$H% Steel | F$E5 SUS 304

B-70# BS-70# y

B-033 Hinges



AIifFEREE | I

/NE Small size

10.0 M6 M6
o J
s [ﬁ] L
V0 | © |
a
o ~ ~
B p N A
—r— @_
7.5
>12 13.5 —e
mER Three Joints
Two Joints
i S 5 e
Stainless steel or M.S.zinc plated
R, Version £E L Length A ###M Stainless Steel fEE¥EHM Steel
&R Two Joints L=25.6 BS-2207-256-304 B-2207-256-01
=E&fj Three Joints L=39.2 BS-2207-392-304 B-2207-392-01 ‘

KB Large size1

4.0 M8

FEﬁ B
—
10.0

*22.0

16.0
33.0
16.5
49.0

>16 18.0
TE =i
Two Joints Three Joints
=Rl =2
Stainless steel or M.S.zinc plated
R, Version EE L Length A~ @8 Stainless Steel fES¥EM Steel
&l Two Joints L=325 BS-2207-325-304 B-2207-325-01
=& Three Joints L=49 BS-2207-490-304 B-2207-490-01 ‘
L
/NEY Small size ) KE! Large size
| L
ma B % ! il
o> (3
<l 2 5
2.4 =L
21.0 116.0)
Q
Oﬂﬂ Sin 26.0
o (ap]
3 [ ~ | <l o [l
& o = s S
o I | 5] (=)
% =l
308 S 3 S A

Stainless steel or M.S.zinc plated

#R Version | REEL | A |F#E80 Stainless Steel FEEI Steel
L=45 30 BS-2207-4530-304 B-2207-4530-01
L=53 38 BS-2207-5338-304 B-2207-5338-01
L=50 29 BS-2207-5029-304 B-2207-5029-01
L=61 40 BS-2207-6140-304 B-2207-6140-(M

/NESmall size =ffi Three Joints

AELarge size =§fi Three Joints

B-22017

TAINLESS]
I SERIES
)

LR Hinges §




B-2821 B-2822 B-2823 B-2824 | W2 44 [E] 7E $X 5

28

|_‘ M8 MEEIR A%

3 £
€
"
30
499
@19x90° “ @ /.
+1m/m v
B-2821-7/L c @ D
§ ¢ | 2 8
N .
)
2- @ ettt @ 1
N
55 | 50 |
135

5 5 S 3DUR AR B TE SR8, AT 5 S 5

3D-screw-on hinge zinc die,shaft and grub screw stainless steel

B-2822-75/R
REEIE Surface | Zr %k Left | 5% Right

fE 2 Black Textured Powder Coated B-2821 B-2822 ‘

//
=
£ T
5 e 3 @
N
+1
(P
[ = ERTE
4-913.2
4962
B-2823-//L 25

£ ozt Y

= S

+1

Lo* [
62
+*ITm/m
<=
B-2824-7/R REEIE Surface | Ze %k Left | F#= Right
%2 Black Textured Powder Coated B-2823 B-2824 ‘

B-035 Hinges



yhaEsRE B-216 B-215-2

13
z PINREETs
& g - Panel thickness Ts
& A
< —
| [N
T |
I
r T )
1] 1
4 ] UJI
[oe] 1 _ —
8 )-r8 98
=
)] x
AN -
il
— .z =13
16
6
PR Th e
Anti-drop design FEFLR~T

Panel cutout

o, RIS T IR, R E D MR B R RN BIES

Zinc die,M.S. zinc plated or SUS pin, Black textured powder coated or bright chrome .

= . Iﬂlﬁ T’Er'..%
PIHRIZEL Panel Thickness Black Textured Powder Coated Bright Chrome
Ts=1.6mm 4.6 15 B-216-16 B-216-16-30
Ts=2.0mm 5.1 15 B-216-20 B-216-20-30 ‘

10 15
27!!
li ~3 \_LS.I
|
a1 I — !
ST I\\ —
n
| | o0l S
n o L i i o | ©o
el - —Ele R = .
| ™
I 2
-
| Ts=2

() &>
s
gt
o4

&
[

LR

Panel cutout

o, RSN S T I, R E A MR B R RN BIE T

Zinc die,M.S. zinc plated or SUS pin, Black textured powder coated or bright chrome .
P94 Z B Panel Thickness | ik 1] 2 Black Textured Powder Coated
Ts=2.0mm B-215-2-20
Ts=3.0mm B-215-2-30 y |




B-037

BS-2324 B-2124 |

!:Eh N

Hinge

| ShaciRsE

0

15-1
Lo
\/\ -
N %
o N\ -
N &
- N
U . i
P A%
TNARRMeX6
M6 B
Osg/g10
o A N
I E) 3 i
) ol @ { o
N ¥ 1) =
I 17.5 3.0
I\ "
N
6.0 @
180°ANIHIMSUS 31688 58, A~ 471 5 27 #h
180° hinge SUS 316,pin SUS 304
FI4%/EE Panel Thickness | R4#48 SUS316
Ts=1.50mm BS-2324-15-316
Ts=2.00mm BS-2324-20-316 y
60.0 50.0
@
D "7]
ol B 3 N
3 < It S
® ©) }éi
14.0
M5 JIEEIR%A
M5 BhERIEE }
n
<I:
A I Jﬂff‘—o
WAL piiy WERE
7o\ -
AE! H=45 -/
Eal o
[ M- Rz
(H PAIN ZN| S
n ’I‘\q it}
© BH! H=1.5 \ /4

PO IRARE E SRS N IRIE I PARRE

Screw-oc hinge zinc die,pin stainless steel and bushes polyamide

KRELE Surface AZ! Version A B! Version B
fiE 2 Black Textured Powder Coated B-2124-01-20 B-2124-02-20 ‘




HhEESRsE | | B-2308

gl
RL{Gi €5

35.5
35
[ 20
r 1
| o
S _
) |
]
X 3.2
Q = 2 | — I =
™| N
Ll
s 5
S
T T }
15.5
23.2
A+ERY
20 A C

M6l EIR AR

Yo} =~
o~ =
80" < 1 = ﬁ@;

|

0
|
:

15.5

>33 PR C+ERY

c e
7 M
M6TIERE 4 fiffjpm
e
180°
~_ F M10

\“; C+FRY
<

e E, B NN eh, XEmEEeERE
Zinc die, Black textured powder coated, M.S. zinc plated or SUS pin.

Filbey | Version A(Left) A% (Z %) | Version B(Right) B! (%)
A+E B-2308-111AE-20 B-2308-112AE-20

C+E B-2308-111CE-20 B-2308-112CE-20

C+F B-2308-111CF-20 B-2308-112CF-20 A

LR 4




B-2310 BS-2308 B-2326 |

[ =]

\}
R o'
N

[ =]

B-039 Hinge

| ShaciRsE

>1
" Y, ]
wn =
] NG
) W . ,
= — A =)
I
- 255 29;,3\
/ < 215
180° @255
LR
frew, BT TR, R R aRE Panel cutout

Zinc die, Black textured powder coated, M.S. zinc plated or SUS pin.

= ¢ 3% 5 Black Powder Coated | #4518 Blue Green Powder Coated |

B-2310-02-10 B-2310-02-60 B-2310-02-70 A
20.0
355 —
i | 2-06.4 e <
|
)
|
b - -
Qv . ~
g uC; S | |_—— M10 $i S EIR
3| K b L
.CP N ﬁ
15.5 35
33
180° N ifi#f SUS 316 #X8# R SUS 304 FHEH
180° hinge sus 316,pin and nut SUS304
| %H Left | 4 Right
T30 316 SUS 316 BS-2308-111CF-316 BS-2308-112CF-316 ‘
M6 +F 7L BER 4
®¢ 7 M6 Z2I2E
20.0
35.0 = [ x
T
— - —— &) vrsssmes)
_I_ o| = 220 | 9601-M608
of &N « h o t—
ol o = , JELIC
3| & \ fdy_
1 N
T AY e ) b —— |
[ >33 IT] 30

180°#¥ A & #5875 #F 3§ S AN SR B R

180° hinge zinc die, black powder coated; m.s. zinc plated; brass washer

FmEEEIE Surface

Ji T £ Black Textured Powder Coated

$$8% Zinc Die B-2326-500-20 Yy




St E | B-2309 B-2312 B-2322-01

i ——— 515 o
-
I ™ ST
! Q
T | | T 7 —
x =//J| N N J 1 5
on e~ N —
| | %7 \ ~
© 1K [ N I
N\ o I I (s ]
A - ‘}0,
I_L | 33.5 A
49 i
63 BIFLR
Panel cutout
I 2-10.8
AZBEIRE
tra s, WS RIBNYE, RERaRE
Zinc die, Black textured powder coated, M.S. zinc plated or SUS pin.
{53 % Black powder coated B-2309-10 ‘
60 40
NS 32.5
> I >4
1 BREInL Z3)
I —
e T 1@k
I A a gl =l & 0
J < N n
A\ %}7 % ] I 2 _J : 8
N < 8
T § — 180°
25 6 2 U _
50 e— 2 <20)
K24
. FFLR T
HAS, WHEH REROEE banel cutout

Zinc die, Black textured powder coated, PA pin.

ik 1 B.Black textured powder coated B-2312-20 A

ll6i0,2
1
I 1
{'i} ! 1 43402
a5 Qe g ‘ NEE
e e S Eeaen T — 11 S o
o| I 8 ] E§ -:_I
= ™
Q ! B w7 | 63
Male Leaf Female Leaf
3-M6V 6

SEe, T, SEEENEE

Zinc die, SUS pin,black powder coated or E-coated

EaEi Black powder coated B-2322-01-10
B Black grey powder coated B-2322-01-66 ‘




B-2315 | | yhsssksE

Version A AZY

59.5

135
I
S,

Version B BZY

\a
13 ? f
I
N ‘ 9
=] —
n| n :
Q8 C |

10

T
L

U
] 22

8
30

&

i Fidl]
Version C C& 30

22

@b‘

22
13

)

i
@@
@&

o RSN s N R S, R E A MR B B RN B
Zinc die ,M.S. zinc plated or SUS pin,Black powder coated or bright chrome.

EEEk STk W Eg
Black powder coated Bright Chrome Stain Chrome
AZ! Version A B-2315-350-10 B-2315-350-30 B-2315-350-40
BE! Version B B-2315-285-10 B-2315-285-30 B-2315-285-40

C2! Version C B-2315-220-10 B-2315-220-30 B-2315-220-40‘




ShEEsRsE | | B2315-285T12 B-213 B-2328-01

30
" Y
4-M4 425" | 22+0.2 | 5 T
‘ ‘ REVERSE FORWARED r
‘ : m
,,5 -e
e <> ; .
N ~ | —
o S |
a2 A H
®a =
L
— — 1 o
—

FFLRY

Panel cutout

e, DRI, R E A AR B RIS

Zinc die,SUS pin,Black powder coated or satin chrome.

HTEAE HER Wk
N.m. Symmetric N.m Black Smooth Powder Coated Stain Chrome
1.2 B-2315-285T12-10 B-2315-285T12-40 ‘
26
8 |4Mems
eI RL|C
L J

| . O
8 8 @l 8 b& —

ZHAE
@ || -

N

o EHH S N RN, RE N MEEERMEBERE
Zinc die, M.S. zinc plated or SUS pin, Black powder coated or bright chrome

2 {8 34 Black Powder Coated sE8% Bright Chrome

B-213 B-213-C y

38
15 2
. L SRR I
o 12.5 Toothedsaddle washer D
S 5.4
49.8 —

] v

< M6X10 %%  ©
M6X10 Screw £

|

I

I

|

|

I

1

|

|

35.5

5.2
>3

T d
H

! T ]
‘ ! ‘ 121 || in
T I o
25 2- 9.8¢
69 21.7
O SR IRE BB R IR N IE T
Zinc die door leaf, steel frame leaf, SUS pin
RAL9016 | m ¢z 354 Black Powder Coated
B-2328-01-25 B-2328-01-10 y

LR 4




BS-046 BS-14738 BS-9436 | | BHEERE
m E,] S e

433

®3.8 : @2

30
20
0.8

6.8 7.2

BNz NS

Stainless steel

y 4

o
@&

36
20

N

9.20

8.25 37.50

54

T304, HRBHHF EE
Stainless steel 304, Vibration Grind

147
6-04.2 60 60

38
26
| (J
A
L1 Y
N <
\'/
H
Q&L
B
T
s

s
&[]
&

T304
Stainless steel 304

B-043 Hinges i



BRAA B E ER 5

BS-236 BS-202

N
Il
&

@

T304 IRENFTEE
Stainless steel 304, Vibration Grind

30.2
17.6
—

f 1 1
A %
N %

/4R . B
N
\_ o
A —d
@5.8

4-©3.4

TiREM304 > IRENFTEE
Stainless steel 304, Vibration Grind

\ A A Hinges i B-044



B-201

TAINLESS]
SERIES

RLIE

B-201

B-201-3G

B-045 Hing

I | PodiRsE

12
33 207
a= a=
L
5.7 @ I
- n
N
z —H 2 3 & @ @ —
g \/ Ry D
w0
. N
e 1
t‘j B 3-Mé
11 -
31 19.5
0
N
- o
Q C) TT o ] @ -
N
12.5 Y4 [
25 39.5
33
11.15
~0
s MEEE
L
5.7
@71 D14 @12 @7
[T
i o~
BAY AZY
Version B Version A
l! BIREE R
— B
BIREER
f
TETE — ZHRRE — ZETE =

e, MBS THEEEE F, RE MR EEE I

Zinc die, Steel or SUS Fixed sheet, Black powder coated or satin chrome

BEE K455 Weld-on part version | fifElI & Black TexturedPowder Coated #E& Satin Chrome

AZ! Version A $HE; B-201 B-201-G
BE! Version B s B-201-3 B-201-3G
AZ! Version A A BS-201 BS-201-G




Po st $%sE B-211 B-205

TAINLESS]|
SERIES

16
N

2 BIFLR T
Cut out
l:l [ jﬁ 29.3 2-©5.5
. 105.6 X / . . . . \
| | D .
OCTT |
|| || 196
13
| . |
] I r”@i\]
2-M5 8
15

#8303l i 304

Steel or stainless steel 304

F588H SUS 304 | #B# Steel

BS-211 B-211-1 y

@63 |
8.g [Sue
tl
|| IS
N\
=
L[ =
=
d ~ I
= ©
<
TEE2m/m TEE3m/m =
~1
N i /
] Z o \ j:
Dé. B6.2 >
_@ 26 RE:2mm
@10

2

i) #8 3¢  # #d 304
Steel or stainless steel 304
A8 SUS 304 | 038 Steel
BS-205 B-205 y

LR 4




B-2406 B-2407

SERIES
an n
>2.5
14.8 —
u Y
wn
i 7.4
8 -t-—4—=l8  -H—1—F ~
o~
L \ : 1
12.2
20
BS-2406-012
[% 120"j
eSS nakit) JRIEE R
Screw on version Weld on version
HE S 2 SR 6
M.S. zinc plated or Stainless steel
| F$888 SUS304 | $E8%68 Steel
IR44E E B! Screw on version BS-2406-011-304 B-2406-011-01
J2HEE EE! Weld on version BS-2406-012-304 B-2406-012-01 ‘
&,
2 oy
| & q) |
e% e \.:n ~,
) Lt
- Sz
7
D) Il
| |
o Y
B o T-TTrEs IS e e e I =T
1 1 1
) / J
" B lw/‘zﬁff \
N Y 2
N PSS
& 25 @5 s
o
11.5
v ] . H .
. o84
Ve T 3 : j
o “ /ft 5 n J @
S B — 135° 2
o S| 25 i ' I3
120 . N\ S N 7
11.3 o) 215
20.3
2 $3F 0 2% S5 5
M.S. zinc plated or Stainless steel
| F$888 SUS304 | $E5%60 Steel
(R~F 20.3)(Dim 20.3) BS-2407-011-304 B-2407-011-01
(R~ 21.5)(Dim 21.5) BS-2407-012-304 B-2407-012-01 ‘
B-047 Hinges




AIRIREE | I

6.5 20.4 6.3 26.5
N
g 0
O J (D
gl o -F _ el g 3% T~ - ahi 218
S L % C
145 mn N 14.5 Ly
&) W
o> Y] as (07 =
(0) | m
v
38.5
>0.5 3 R 3 I
T | T J J
! [ ,
1o g |17 © 120° H ~
- H- <t
"/ N é@_ |9
32,5 r/
HE S 2 S 6
M.S. zinc plated or Stainless steel
| X888 SUS304 | §E8%68 Steel
(R~F 20)(Dim 20) BS-2407-021-304 B-2407-021-01
(R~ 24.5)(Dim 24.5) BS-2407-022-304 B-2407-022-01 ‘
2 “
& \ &)
° % . o/,
e O/ Y
% — R
I
i N
M I I |
| o WV O] o~ _‘______|_kD o
g8 eS| 11188 2T ] i“’“’
NEl P am
7 T
7 T (Q—
N | & a5
~ s o/ k3 PesT ]
‘5\:\’ 6 20.4 ‘o‘f—>¥
(D(o. - o) 14.5
~) v,
32.5
26 R
H 3 i | 1]
C \I I)/
21 I
325
8 S 2 S 6 4
M.S. zinc plated or Stainless steel
| F$E8H SUS304 | $85%30 Steel
(R~ 20)(Dim 20) BS-2407-031-304 B-2407-031-01
(R~ 24.5)(Dim 24.5) BS-2407-032-304 B-2407-032-01 ‘
LR R




B-049

Hinges

23

M.S. zinc plated or Stainless steel

T SUS304

9.1
Yy L/
t al
| 33
& A4-H oy &—-—-}28
‘= | T
_ e N < 12 | 10
— - A
2.1 —[11 L ——
)
o = ©
(D N — = '\.\" )
/ 2.75 120
4 _
N
K / 1
557 5 2LLe
28
]

#EE¥3M Steel
BS-2408-01-304 B-2408-01-01 y
F— -
7 TN
E7S
8 - 4
I
20 33
25 M6 23
10 12 ’/
71 T ]
2.5
o0 20 ° P @JS 7\r
o
W “—‘—‘—‘——‘—E']:B L RN\ | -
Y4
LT A
40
Nf 28 6 3
65
87.8
sk S RN it
M.S. zinc plated or Stainless steel
T8 SUS304 | $EE¥SM Steel
BS-2408-02-304 B-2408-02-01

4



AIRIREE |

| B-2408 B-2421

90 M6 JJLERERAA
51.6 Countersunk screw M6
45 50.6 4.5 >5
S : 2 =— I/ 8
Vs _ I _ il A N\
o | 265 = o 2 1]
A I N
L e o A
| r N—T—/
SREBINIR / 2-6.3 M6 BhsRi2 —
Shaft clamping ring Locknut 235 1115
Q <f
k=
-
Q ) '
S ®
£
SEEFI o IR iN304 IR HIR . R AL B
M.S. zinc plated or SUS304~Shaft clamping ring:POM,Red
T8 SUS304 | gE5ESH Steel
BS-2408-03-304 B-2408-03-01 ‘

m 1 AR EE
20 Installation Instruction
145 gl PIfE
3-25.4 A B /Door frame
I [ ! [ n =16
HEd IZ 1 SHE R 1o
! | M5 in :
! ‘ N 5.1 -
n o -l .
‘ " ! T I n A \‘
| | i ‘ -
| | N4 \
ol H " ~
| 7@ TN e 8 g-Hi-s - PIIR
o 55 TE A = Panel Door
= | Pin N
T
| H-®
| o ‘
| < 8.
&
| 1B
I Frame Part
©) @/f 1 _
‘ wn
| 254 | a4 B
: o ~ ~ Version B
‘ tn ] J——
| 1 e
AR
Version A

3 Version

ERMESE PART.NO. | #ERRERE Material & Finish

B-2421-011-01 #4¥48 M.S zinc plated AF
BS-2421-011-304 Fifslas & SUS304 Natural Version A

B-2421-012-01 $8%8@ M.S zinc plated B

BS-2421-012-304 FeE#AE SUS304,Natural Version B y

TAINLESS|
SERIES

AR B
Version A Version B
LR Hinges




B-2410 B-2411 B-2412

SERIES
126

100.4
N
2 i 'vi 5.2
B i
™~
5 — N T .

o IR | )|
q)o,?‘ ~ T o [T
1% & 34 1.5

116
H=17\20 ~
120°
£ $1) SX - S 5
M.S. zinc plated or Stainless steel
=IE Height A 88 SUS304 $ESEEM Steel
H=20 BS-2410-20-304 B-2410-20-01
H=17 BS-2410-17-304 B-2410-17-01 ‘
250
150
(X 3
P> >45
?,/ 8
ROy 1
[ [ L
o I AN
sB—2=—=r 1 o O O
[ N\ N\ : | oS S
| EENE —
A
16.5 3
480 S |
~
180 [
IR EE

P& SR O T IR I i > REH B R

Zinc die, black powder coated,m.s. zinc plated or SUS pin.

N | 1]
N T
o W 7
<
28 @10 @12 716
| HE ) o A 38
M.S. zinc plated or Stainless steel

Weldon or screw on

1\
7

80

IR AN
| _

RE L=40 RE L=60
A#H SUS304 BS-2412-40-304 BS-2412-50-304 BS-2412-60-304 BS-2412-80-304
$EEEH Steel B-2412-40-01 B-2412-50-01 B-2412-60-01 B-2412-80-01 ‘

B-051 Hing



ShEEERE | B-1470 B-1132

40~70

o 1K

Zinc die, Bright chrome plated

y 4

40 40 12.5
3963
27
1 | ¢ -
il :

— = e ]
ar o o 60— '
< o pr /S : ANEWA

-
o 7.3 ‘
a 22 22 30.5 10 15

_—
™~

104

162

e R
Zinc die, Bright chrome plated

y 4

\ A A Hinges i B-052



B-1332 B-1336

127
Ji [ 1|
L ]
42 21.5
21 3-9x5.5 Long hole 18
I | L\
| - N\
™ | !
~ ! -
22
44
e MR

Zinc die, Bright chrome plated

A 4

42 18
o1 3-9x5.5 Long hole
[ N
| B @ o | |
“l v
N | | |
] |
I5¢
21
42
f 1
[ J
127
FeE EIK

Zinc die, Bright chrome plated

y 4

B-053 Hinges R



B-112 BS-14282

ShacixsE |

140

o 1K

Zinc die, Bright chrome plated

B-712 y

69.3 ! 37.9

6-M5MFEFL

Bhas—

wn wn
g 8 \ § b
o
o
NS
8.2
13 102.4
al o
wn
h |
un L
25 116.8

TifiM304 - FE: PAG6
Stainless steel 304, Washer: PA66




B-45 B-60 B-70 B-95 B-257 | | REEEEE

e S IEI
Zinc die, Bright chrome plated
Prouet O | c
B-45 45 37 5 13 31 215 @43 18
B-60 60 36 6 13 478 21.7 @43 315
B-70 70 475 7 16 515 265 @43 34
B-95 95 545 9 19 77.6 33 @5 52 ‘
unit:m/m

- @

aa
—

[

lal

it

18.5

10

/%
:

10

=l

—/

=i

16.4
110 ° .
s E PAFIsE e

il EREEE
M.S. zinc plated, PA fixation-set

y 4

B-055 Hinges



SEBEARAT
I.EEKA-. INDl_lS.T.RIAL CO.,LTD.

AD7BEHEEETEES+AB21-15
No.21-1, 36TH.RD., TAICHUNG INDUSTRIAL PARK;
TAICHUNG 407, TAIWAN, R.O.C- ;

E TEL T 4886-4-2359.8798" « .
FAX-:+886:4-2359 8762 =+ =
VAT number:: 24579163~
E-mail :info@leeka.com.tw




